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(.T_l'l VYT 0N ,Z—zl):/\(:cz T XTsY2 T YeZ2 —z2),

P H AR AR AT A5
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B LA 53 RS AR R
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W =|f||s|cosf

=| f|!s|cos(f>s). s
HEEREERE, RMNEkEXFIRNEHN 0

—FMiEH . M, 5 M
0. TR B E

lal|b|cos6=|al|b|cos@,b)
dmEae 50 MBER,ICHa b, B
a-+b=al|blcosb.

T B A 0B ARt ] Py R AR,

S f BT W=f 5.

% 6=0 K ,a - b=lallbl,MF a=b,NH

a*a=lal?,

5 la|=+a" a.

TERMNSHAE a,b HEBRARIRE LK.

HEE7-13 %, HREXEHRA B
1 b a-b

|a||b|cos¢9=7(|a|2+lb|2-—Ia-blz), 1A ¢
(ayraysa.) sb=(b, ,b,,b), RA RS 7-13

a*b=|a||b|cosd
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=a,b,V‘ab,tab..
BERBELETIZER:
(1) ZX#Ht:ab=b-a
(2) 4+BifEa s (b+c)=a-bta-c
(3) BRMESHBALER,Ga) « (W)=0Gwa b
BAT 8 o, b B A0 IHTE ALK
cosd =& b _ ab,.tab,tab,
lallbl a7 Fal+a? JEET BT

E% HE-NEREBENSR.
alb<e>a-+ b=0ab,+ab,+ab.=0.
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lal|b] 2X1

cosfg= :%,
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RAXFHBEIEHARZER.
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Wa,b BEHSEDTWEE, EMNHKHAERIERN aXb, ER—THE.IEHR
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aXb=c.
¢ HIHE Y axb
le|=|axXb|=al|b|sin@,b). b .
c M TFHME cLa BHelb, Hab,c AEEFEN, M ~=s
B 7- 14 FiR. MR a, b WEABRE c i N a, b MR "
B SMR. 7-14

M P EER .
axX0=0, 0Xb=0. KO0
aXa=0 (HH|aXa|=0). '
aXb=—bxXa (HFHEI
Bl A B R A B, el IIEF i BB E UL T8,
(at+b)Xc=aXet+bXc;
(Aa)YXb=Ai(aXb)=aX(Ab) AER,
M AT LUE 3
laxXb|=al||b|sin@;b),
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EHFREU a,b HBHWFTURENER. Y aXb20 K, ERETEHEHE
R .
2. EEHER
B ab, W ay/b(HER) =>aXb=0.
iE ‘=" MNEXSE.
‘=" FaobPA-ANRFER, GRS AR 0, b WEFEE,H
axXb=0,bFH
fa| [b|sin@,b)=0,
M sin@,b)=0,E01@,b)=0.x, 7 W a//b.
3. By AR E R
W a=a,i+a,j+ak b=bi+b,j+bk
aXb=C(a,i+a,j+tak)Xbitb,jt+bk)
=ab, (i Xi)tab,(iXj)+ab, (iXk)+
ab, (JXi)tab,(fXi)tap. X+
ab, (kXD +ab,(kXj)+ab. (kXK.

FEH
iXi=jXj=kXk=0,
iXj=k,jXk=ikXi=j.
JXi=—k,kXj=—iiXk=—],
(&3 IEE
aXb="{(ab.—ab,)i+(ab,—ab.)j+ (a.b,—~ab)k
:ay azi_‘_az a,j+a1 ayk
b, b.| |6 b, b, b,
i i k

FH =5 R LR ERICE o Xb A FRRER.

Bl7~-7 PE@EOEZSEI=AAA,0,0),B0,1,—1),02,—1,2),K—
AREAFYLHE OWBEER LR,

| HEAEENG AR, EKRAB,ACKH M BB, HAB=(2,1,— 1),
AC=(1,—1,2),&
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1 —1 2

% BRI R n 350 L, B |
n=—(ABXAD) =(—1,5,3).
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—fLEREA CHELK I WERJ.
M EERABSAC, WE 715 F T LU 8 C L B d RUAB.
ACH AR 0 AT A TE . i LT JLAT R A
| d|AB| = |ABX AL

AR d=%‘l‘@.
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i ok
2 2 2
1 2 4

FilL | AB|=2/3, |ABXAC|=214,BFREBH

ABXAC= —4i—6j+2k,
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AL/
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